2B #&%H fli 1 & CRAE/HBH - EF Ressma

I—F BB MR —hRmis | = 8 | 5o
120[16-1 IEEHEEEEHBTLEA | (AR 1,800 2,000]smeibme] R5.3.10
121|201 IEEHEEEEBTEALI N SEH) 1,437 1,600] smutgmu] R5.11.10
122|13-1 EBBEEEEETHA D 25£%) 1,437 1,600] smui s ] R4.12.21

B 12319245 BHEEEEETHALD (S5EH) 1,437 1,600] smutgme] R5.11.20
12412-1 EBBEEEEESTHAT USEH) 1,437 1,600]smuitsme] R4.9.14
102|13-1 BEBEEEBRTEAR 1,700 1,800] smuitsme]| R4.7.13
103|£5ThR29RI EHEESE 1,900 2,100 2/t b gmps| R5.7.1

R 1041 ZHEBEFEAEE (RPN 1,400 1,600 smu ] H20.6.30
105|6-2:ThE AR EREEE 2,610 2900 @my R5.2.1
106|BEEHETIS Thh Y OF LEREEDREEA 630 700] st ]| $mosen
108|2-1 &3 ZHEEEHDES 4952 5,239 i) H20.9.25
109| S M6 FR=BBRARBERNZE 3,420 3,800 it R5.8.10

A 110|195ThR ERRIGE AR 4,320 4800] my R6.1.15
111 SH2EREF RS INE 3,960 4400 my R2.7.10
12| £ EHIEZ P EHBEEQRA 600 1,000] smpi b ] H28.4.1
114[1-2 2 7% # 17 755 992|smu @y H16.56
15 ERERHFTHEY=17 /L TR 2,160 2,400] 2/l £ gmss | R5.11.10

& 116]1-2 EBMESH 1,000 1,238 smutmp] H26.3.22
8| EBEICEFRNBEARB ATV 1,155 1,800 smu ] H28.4.15
125|eRETHR HEHAMEDFSIE 1,350 1,500] amur g ] R3.10.15
126|6:THR EiEEStRE BREWNE 1,080 1,200] smu e ] H29.7.10

128A18-4 EAREAXFEHBIEV\FTMEAR) 534t 5,000 6,800 sl Eamys| R4.10.26
132A)4.0 ZiEEBIEEAEZACD-ROM Verd0 2,600 3,200 st b gms | R4.10.26
131]1-1 ERZBEEHEIFI0EH 1,000 1,200] syl g | H20.8.29
230]16-1 fEEKEEEEMBELEERRE) 1,700 1,900 smui @iy | R5.11.29
23112-1 fEEKEEEEMELSED 1,500 1,700] st bgm| R5.11.20

S| 232|122 IEEBEEEEMBEEREEHR) 1,500 1,700 s kg | R4.12.28
233|6-1 IEBLE T ENBECEER 1,500 1,700] smui @iy | R4.10.26

A 234|6-1 EEREETEMBELEER 1,500 1,700] smui by | R2.11.25
235|2-1 BEDEELZE-HDEEIBNERE 1,800 2,000 seibmp| H22.4.6

M 236)2-1 EREICKROONDIVTIMTVAER 1,800 2,000 seibmp| H22.4.6
23711 ¥ Fo-av Y ILEU N EEREE 2,091 2,400] sl £ gmu | H23.12.13

7|  240|1-1 ZFE D -=-HDESHIEA) 2473 3,000] sl Egmu] H25.1.29
24111 Z{E 8 D 1- DE ST (DVD) 3,473 5,000 e#el Egm | H25.1.29

Ul 282|1-1 ZEE 0O DES (YN 5,709 8,000|stybul bgmp] H25.1.29
238|2-1 HAETHA HBETHERUR(EZR) 1,419 1,732 smu @] R3.6.28

Tl 239|4-1 #REiEE 2 R EHFRIRAL(100R8) 1,400 1,800] smuirsme] R5.4.22
249|4-1 B EHEEOFSI(FR) 2,000 2,190 sl tmy| H30.1.31

JY 250051 #ERZHEFDOFSICER 2,091 2,286 smuitEs ]| RT.12.24
251|121 ZEPA S 275 2 AR AEHE R RE £ (200R]) 2,400 2,800 smelbmu| R5.7.20
252|6-1 2 P2t £ 751 RAS R R RE £ (200R) 2,400 2,800] smeitmu| R25.27
253|141 ZiHEHELEAEERLER) HiliR 1,800 2,000|smeitame] R4.3.3
254|7-1 B EREHACGIR SRR TR 1,900 2,000] sl mp | RIT9.17

' 255|9-1 B EBEHAGERE) TR 1,900 2,000] sl | RIT.9.26

V| 256|1-1 Bl S HELARGEMRE) HETIR 1,900 2,000] sl ma] H18.7.7

| 257|211 ZHELBELAEREWE) FETHR 1,900 2,000]smeibme] R2.4.1
258|1-1 SN EAE EEE 1,755 1,905 smuL s ] H13.1.31




I—F = 2 INEE B iia] —RRimis | = 48 | BloIT
259|2-1 ERMBERE 1,800 2,000 sl b gy ] H28.4.15
260|2-1 ERMRBFEEHES 1,755 1,905 smui kg | H225.7

H 261|6-1 HHEEEEEHEE @G 2,000 2,200 smeitmu| R4.4.15
Ul 262|1-145Ab T s TRED S KBS DD EE30] 455 800] sl x| H27.8.20
|  263)4-1 HE R - BIRELE R 1 $RASHERIRELE(250R]) 2,400 2,800] seibmy| H31.35
26481 =B & - #IAELE W2 S A5 R RELE (250R9) 2,400 2,800 sl bmy| H30.1.31
265[1-1 HRIETEAX H5 L EMEBHR(SER) 1,419 1,732] s b | H31.2.27
26631 =B FiEHRE i 2 4R R HE R RE £ (100R1) 1,400 1,800] smul kx| R3.10.26
200|12-1 ZEFEZHEBOTF5 @K 1,900 2,190 smuitmu] R3.4.20
201|5-1 RBFELHEBFDOFEI(LR) 1,810 2,000] sl gmp| R5.1.21
Al 215|191 EFEE HEH 2RIESIRIRELE (200R9) 2,400 2,800 sl bgmy] R5.12.22
X| 205|3-1 R BFE L EFH2MAEERAIREE(100R8) 1,400 1,800] smuitgme] R5.9.21
B 204|711 REFESHERBIEEIRREE(2007) 2,400 2,800 smpitmp| R5.4.18
B[ 202|12-1 R EHREHBDOESI@HR) 2,182 2,381 sl | H30.1.31
Rl 203|8-1 MR EHEBDOFI(ER 2,182 2,381 | smeitmu] R3.4.20
214]15-1 MEERE R E 2 MRS 5ERARESE (200) 2,400 2,800 sl kg | R3.10.26
207|6-1 FEER 2 £ 75 2 R ASHR IR &£ (100R8) 1,400 1,800] smuibsme] R5.9.13
208|9-1 HEER 1k 2 751 SRS HE RO RE £ (200R]) 2,400 2,800] sl gmp| R3.11.24
209011-1 Z{EE 0 (B6E) 1,400 1,500] rimurmu| R34.14
210)4-1 BRBETEE XEFEZHER2REZR) 1,419 1,732] smuibgms] R3.12.10
211]3-1 FRBETHER HRZHEEB2RESER) 1,419 1,732 smuirmy| R4.427
285 | R EREB DTS 564 762| smu @y | H18.9.20
31| 286\ MR EBDFI 1,800 2,000] sl £ gy ] H18.10.30
287|2- 1R REHBEBEDF I 1,000 1,200 smui @y | H26.11.7
289|2- 1 X EFEEHEBDFEI 1,400 1,600 smui | H26.3.22
201 | BB EBEEDFEI 1,600 1,800] smuibsme] H19.7.3
18] 27921 EHEB DT 1,800 2,000] sl b ] H26.5.24
288|3-1 ERIMEICLDEBRMMEREHES 1,800 2,000] sl tme| H29.7.18
293|12-4 ZHEEDMEE (125T44R) 2,755 3,000 smeitmu| R5.8.10
423|=iE=FE 855 1,000 = = H20.11.1
H  424|ZHFE #HEAN E-HRIK) 100fLLE 10,000 10,000 = = -
A25|EBFIR HBAN (EXFHRIK) 100 L 5,000 5000 = = -
537 11T RIRRIEEESEl BT 946 1,048 sk | H21.12.16
539[1-11/\E- KABIRIEESE) BT 1,046 1,143 smui kg | H22.11.25
B 540|s=@EgEnng bhYOT LR 2,286 2,600] smel b ] H24.12.3
54115-1 X aT1- IS —HBELARIE15] 5,182 5,400 sl mu| R3.10.26
542|5-1 X aT1- TS —HBELEAR[FE25] 2,182 2,200] syl Emu ] R3.10.26
538|4-1 X aUT4- TS +—EEMBEE 2,091 2,400 smpitmu] R5.6.24
550|3-1 ¥ UF 1 oS AU METHARE15] 4,755 5,400] sl £y | RIT.10.1
551|3-1 ¥ UFo-avHIL AU METHA[FE25] 2,755 2,800 smel Em | RIT.10.1
03| B ELE Y 791 1,000] smurtgme] H28.7.27
304 —7 —FI(F'171yR74—HhR) 1,200 1,900]21mu g HO.10.13
2| 309|tFalT4-<=27JLNo.1 1,000 1,200 smutgme] S61.2.20
310|xXaYT4-<=27JLNo.2 1,191 1,400] smutgmp] HIT.3.10
311Xy T4-<=27/LNo3 2,091 2,190 sl @ | H9.6.17
312|xaYT4-<=27ILNo4 2,091 2,190 smpitg@mu| H7.41
313|tXaYT4-<=27ILNo5 2,282 2,381 st gms | H12.12.20




I—F = % INEE B iia] —RRimis | = 48 | BloIT
403|E( 8 4 ERM (301t vh) 528 600 = =&
405| X YT184 L ( AS) 728 128 = &
407X T481 L (R B HKISES) 1,455 1455 = & R5.11
409| X2 UTA481 L EHEH) 9,091 9.091] mm
M8|RE-ROEHESNERICAIFTERXE) 3,900 4300] == H22.4.6
421|security eye 5 600 700 = B H20.3.20
2| 422|SECURITY HANDBOOK 2955 300 ==& H25.11.1
W3 |BARARUNRE/— 500 1,000] 1m215m | H26.11.12
A EXaUTAEA LR E— 1,428 1,714] = %
Ma|roe4EL R BHA 1,164 1457 = =%
43| o816  (£E) ZHH 1,164 1457 = %
415|RH84EV ($R) &R 1,164 1457] = =
MN7|Ro81EL (&) HHA 1,455 1,749] = =&
432|984 (£)2015 1,400 2000 == = H27.5
2l 433|rHyB4E (8R) 2015 1,400 2000 == = H27. 5
426| X aUT4-TSoF—\wT(SP) 1,137 1,300 = =&
427X T4-a Y ILEURAYT(SC) 1,137 1,300 = =&
428|273y AJSSA (7' 473 800| =x =
429|278y AJSSA (J1)-) 473 800| =x =
430|E > /3y AJSSA (I 473 800| =x =
435|txaYT4-TSoF——IL  19—P50R(5H ol 1,000 1,000 = =&
442\t x T4 HILE R —IL1Y—F508K (511 ot 1,000 1,000 = =&
436 ABRH—TRYI-I) RAE— 555 700 ==& H28. 5
437 ABRA—TRYI-V) FART L — 555 700 = =& H28. 5
Wl 438 ABRA—TRY - EVY 555 700 = =& H28. 5
A3 ABRH—TRY Y- RE 555 700 ==& H28. 5
AO|ABERA—TEYVY-I) 4 500ALLE 537 680 = =& H28. 6
AN |ABRRH—D RV I-) 4% 1000KLLE 528 671] = = H28. 6
2445 )F<—Hh— 900 1,200 = =& H25.6.7
245|5')—> < —h—#7E74F) 700 900 = =& H25.6.7
246|5)—><—Hh—FI-) 700 900 ==& H25.6.7
2475 ) —o=<—h—@vY) 700 900 ==& H25.6.7
248|151 )—o g —h—(FLYY) 700 900 ==& H25.6.7
245-1 |9y T - v—H—tyrHTRIAD 1,500 2000 == = H25.6.7
246-1 |9y T -v—H—tvbG L) 1,500 2000 == = H25.6.7
247-1 |9y T - —H—tyrIvY) 1,500 2000 == = H25.6.7
248-1 |9y T - —H—tybEHLYY) 1,500 2000 == = H25.6.7
410|AJSSA HUTI7AILEvIH4—1) 91 93] ==& R3.4
450|AJSSA T+ (#if8) M 1,200 1,204] = % H30.5
451|AJSSA T vy (i) L 1,200 1,204] = =& H30.5
452|AJSSA T vy (fitfs) LL 1,200 1,204] = % H30.5
2| 453|AJSSA T (i) 3L 1,319 1,364] = =& H30.5
454|AJSSA T v (fitfR) 4L 1,319 1,364] = =& H30.5
455|AJSSA KA A YL RO Y (Hif) M 1,573 1,576] ==& H30.5
2l 456|AJSSA REUEHUROL Y (HE) L 1,573 1,576] ==& H30.5
457|AJSSA RELE Y RO v (Hif) LL 1,573 1,576] ==& H30.5
458|AJSSA KA A H RO Y (Ff) 3L 1,910 2000 == = H30.5
%l 459]|AUSSA ARELA YU RO Y () 4L 1,910 2000 == = H30.5
460|AUSSA HR—ILR 28-S ¥ —T R (PH0K—L) 491 500 = =& RJT.6
420|AJSSA FryT @y-Avva) H4A LL/3L 2,600 2800 =z = H28. 11
434|]AJSSA Y- ARSYT 555 557 = =& H29. 7




I—F = % M B e — R | %= 5 | BT
544|R & LEEDVD £6% 91,427] 135906] = u
544-1|R & L{EFEDVD (1%) 16,190 29,049 = s
| 544-2|Z & LIE4EDVD (552%) 16,190 29,049 = s
544-3| R £ LIE4EDVD (5£3%) 16,190 29,049 = s
{ 544-4|R & L{EFEDVD (F4%) 16,190 29,049 = s
544-5|% & L{S4EDVD (55%) 19,048] 33,906] = s
544-6| L £ LISFEDVD (5£6%5) 19,048] 33,906] = s
507 | S 2 EDVDL 2% 26,667] 43,619 =
507-1|#iFSh 2 ZEEDVD (FE15) 21845 24,190 = g
507-2|#iFSh B EHEDVD ($2%) 21845 24,190 = g
545|T R TY R2—3 B EH L i IDVD (134) 8,571 13,000] = 3
50| BHEEEH1HDOVD £6%5 82,524] 106,797 =
502-1|3BFEZ 1 1#kDVD (E15) 16,505] 19,418] —520M
502-2|35 B A E = 14RDVD (F2%) 16,505] 19,418] —##520M
502-3|3 B FEZ 1 1#kDVD (E3%) 16,505 19,418] —520M
502-4|ZBFEZ 1 1#kDVD (F4%5) 16,505 19,418] —520M
502-5|35 B A E =% 14RDVD (F5%) 16,505] 19,418] —##520M
502-6|3;@FEZ i 1#EDVD (F6%) 16,505 19,418] —s20m
522|FHEFEEHEDVD £6% 118,095] 147619] = u
522-1|$ ZHE LK EDVD (F15) 24762 31,429 =
522-2| T EHE LK EDVD (F24) 24762 31,429 =
522-3|$T E{EE K EDVD (£ 3%) 24762 31,429 =
2| 522-4|F EHE LK BEDVD (F4%) 24762 31,429 =
522-5|$ Z{E S EDVD (E5%) 24762 31,429 =
522-6|$T Z{EE K EDVD (£63#) 24762 31,429 =
523-1 | BF B LML 2MHOVD (F15) 2Rk 19,048] 24,762 = %
523-2| K BE B LML 2MOVD (F2%) 2R R 19,048] 24,762 =
524-1 |3 B E B R F24B0VD (5 1%5) THlR 19,048{ 24,762 = #
524-2 |4t B E B £ 75 24RDVD (245 ) EHiR 19,048] 24,762 =
525-1 | ERZ i £ 75 24kDVD (F 14) 2R iR 19,048 24,762 = %
525-2| R E i £ 75 24kDVD (F24) R iR 19,048] 24,762 = %
526 i £ H2 4R BHRIDVD (1%5) EHIE 19,048] 24,762] = #
528! %l R EZE 45 IDVD (£ 145) 15,238] 18571 = g
3| 530|2-1 BB ER B EH S XEDVD (£15) 21E 14,0001 20,000|4s%cs40m| R4.3.24~
18] 532|-1Eist ot MR E R S XAEDVD(215) 2 EHR 14,0001 20,000|4s%ca40m| R46.1~
E| 534|-1BiEt R EHERERSXAEDVD(215) 2 EHR 14,000] 20,000)4s%<a40m|R4.12.16~
B 536|218kt oncsiagE-1EE0VD(E15) 2R 12,000]  18,000)4%=<440m| R3.7.19~
553|142 LB FDVD(£15) 1,710 3,000)4s%caa0m| H24.76
2| 546|1- 1 EFEZHEEH1EDOVD(£15) EHR 16,000] 20,000} 4#=<370m| H23.4~
= SAT- ISP TE 1 BDVD (2 18) £HE 16,0001 20,000]4%%w370m| H23.4~
7l 548|2-3EERZ L IE14DVD (215) HETH =HE 16,0001 20,000]4%%w370m] R5.1~
549|1-1 2 £ 75 B 1HOVD (£145) EHiR 16,000 20,000]4%%c370m| H23.4~




I—F = % I B e — R | = 5 | BT

Al 600|3@/NiE SHISERR 3,960 4400] = u R5.12.15

54
700|5 @ieE SH6EM 7,740 8,600 440 R5.12.15

F| 705|65mEEHERDI-ODAE - SLFIE 1,620 1,800 330 H25.6.20
107 |BEEEE AR BREELEGE15R) 1,800 2,000 165 H28.4.10
T108|AEEEESBBENEE E75) 1,800 2,000 165 H27.6.30

B  709|N\SRAVE IS ERIET LD — 1,350 1,500 165 H31.4.25
TO|SHSERES LY RE 1S 13,500] 15,000 330 R5.8.25
M| SHsERES LY RE2E 13,500 15,000 330 R5.8.25

E 72| SHSEREEE Y RESE 14,4001 16,000 330 R5.8.25
T3 SHERES LY RELISE 11,7001 13,000 330 R5.8.25
TNA7OBMEBRROER -BE2%RE 1,800 2,000 165 R3.11.25

S| 76| SHSER HERBRFBELZRIRE—/—F 2,700 3,000 165 R5.5.15
NM7|SF5EM FE - HESREERLEER/— 1,710 1,900 165 R5.5.15
T18|HIE/S— 241 LEEE DR 1,080 1,200 165 H27.3
o HpA bHZEESE MR-SH-BHA 1,800 2,000 165 R5.3.20
1B|BEFLOLSHNETER 1,800 2,000 165 H21.2.20
800| B EEEHRMIE (215) 17,1001 19,000 zuems | Soba=t
801|& R bR B3 E % (R5.T AT URER) 315K 1,440 1,600] 1#5330M R5.8
803|{E A EHRRE/ VT vk ) 9,900 11,000 ums k=X

Z| 804| MRMERELS - RL/N\VETvo(nk) 10,800 12,000] wtwgms | fobg=t
B2 AT EEBRDONEABERTARCEI SR 1 ~49E8) 455 455| #p=# R6.1.12
82| AT EERDONEAERHTAFCEX S :50~2993 364 364 apmy R6.1.12
82| AM TR R DHNEANERA ARCESTE 300561 273 273| #pEs | R6.1.12

?D| 805|TKDRAYE FEEMTIR (NBEEFXH) 28,571 - - -
806|[KDRAYE TEEMMIE (REMEXH) - 47,619 - -
807|l i Birh— LAR—SBS Y —E X 98,000] 118,000 - -
808|l B HPREAR - EEERI2FHDH 60,000 60,000 - -

ol  812|(BETHRIARXAERENES 2,340 2,600] 1#pa60mM -
813|CERI L AX AT REEFH(E 105R) 4410 4,900] 1#a60M R5.4.1
814|218 Re-BERTYNI vy 198 220| sy | H28.10.31
816| G4 ELKRINRAXERDEZH IDK 10+ &S 2,520 2,800] 1#pa10mM R4.7
817| (BETHRI A R fERL D B & &34l 3,150 3,500] 1#pa60M R5.6.1
818|thigitt DR ITE REEEREDE 2,880 3,200] 1#p410m | R5.10.30
820|%E H5|- £ B EKRAN L ERYIVNRES 1,667 1852 = =& H28.3.11




I—F = % INEE B iia] —RRimis | = 48 | BdloIT
830|7 A RN—RR (FAAN Y3 F) RAE—(S) 6,273 7,200] s a1 5 AL EEY
831| 7 A ZN—F R (FAAN 3B T) RAE—(M/L) 6,273 7,200] s a1 5 E L EEE
832| 7 A Z/\—F R (FAANYH3{ET) RAE —(LL/3L) 6,273 7,200] s a1 5 AL S

i 83 FARN—FRRFLIAN YA ) RAE— (XL 6,273 7,200] s a1 5 AL EEY
834| 7 A RN—RR (FAANYI3A ) TIL—(S) 6,273 7,200] s a1 5 E L EEE
W 835|FARN—RR(FAANYI3ER) TIL—(M/L) 6,273 7,200] s a1 5 AL S
836|7 A4 RN—F R (F4ANyH3{E ) T IL—(LL/3L) 6,273 7,200] s a1 5 AL EEY
I  837|FARN—FRR(FAANI3EF) TIL—(XL) 6,273 7,200] s a1 5 AL EEY
838|Z A RN—RR(FAANYI3EF) FL—(S) 6,273 7,200] s a1 5 AL S
¥l 839|FARN—RRFL4ANYIAM) T L—(M/L) 6,273 7,200] s a1 5 AL EEY
8407 A4 RN—F R (F4ANyH3{E ) &' L—(LL/3L) 6,273 7,200] s a1 5 E L EEE
841|ZARN—RR (FAAN 3B ' L— (XL) 6,273 7,200] s a1 5 AL S
842| 7 A RN—% R (FAANv3MEM) T5v5(S) 6,273 7,200] s a1 5 AL EEY
843|7 4 RN—F R (FAANYH3MER) T Fv4 (M/L) 6,273 7,200] s a1 5 AL EEY
844 7 A ZN—F R (FAANYH3{EF) TS5vH(LL/3L) 6,273 7,200] s a1 5 AL S
845| 7 A4 RN—H R (FAANy)3{E) T4 (XL) 6,273 7,200] s a1 5 AL S
846|3Z BT AR/ vy BAtEYE) 1,182 1,714 meB a1 5HLEE
847 @RSy S 455 600 fn%E 8 i1 FFLEEN
848|7 A RN—RR (PAANyY3ME1F) 3005 LAk 6,250 7,200 &5
849| 7 A4 RN—H R (F4ANy)3{E{T) 300y A E 1,050 1,714 &5
850|NEWFAAN—%R1274— L (R A KISME ) RAE— (71— 6,819 8,200] #n2 8 ifitg1 5 FH L E
851|NEW74AN—%21=7+— L (R AFKIMER) R A~ (79— 6,819 8,200 1n2 8 ffitg 175 M LAk

OFBRLAHDIRE. BHNMBETEH TITEXTEL,

EEEEE -HEEEE N v @i

fH6EIA8HRIAE (FiAl)

EEREREAEERE VDB ~45) 1,237 1,237] ==&

EREEXBEEE VD 1,237 1,237 = =
SMEE3ABHEE FHA

BREN vy fillitk

KB AR B RAYD 1,200 1,2000 ==&

E M- MR- BB - B 28RNy 955 959| = =

fH6EIA8HRIAE (FiAl)




